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Exercise Nel :
Convert temperatures from Celsius to Kelvin(K) : —269°c, 100°C, 0°C.
Convert absolute temperatures from Kelvin(K) to Celsius(°C) : 1230K, 298K, 0K
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Exercise Ne2 :

Find the relationship between the temperature #(°C) in Celsius and the temperature 6(°F) in Fahrenheit,
knowing that the freezing and boiling temperatures of water, 0°C and 100°C, correspond to 32°F and 212°F
respectively.
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Exercise Ne3 :
The oldest thermometer was designed by the physicist Olaus Romer. It is an alcohol thermometer based on the
following two fixed points:
- Temperature of the mixture of ice + ammonium chloride (-17.77°C) ; the lowest temperature measured
at the time.
- Temperature of water vaporization at the seashore (100°C). The scale was divided into 60 degrees.
1- Find the °Romer as a function of °C.
2- In your opinion, why was such a scale quickly forgotten?
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Exercise Ne4 :
The resistance of a platinum wire is given by : R(t) = Ry(1 + at + bt?)
where ¢ is the temperature in Celsius , Ry = 12.5624Q,a = 3.93.1073,b = 6.0.107".
Define the centesimal temperature scale 6 defined by this thermometer as a function of 7.
The thermometer is immersed in a bath of +50°C. What temperature does it indicate ?
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Exercise NeS :
A mercury thermometer indicates -2 when immersed in melting ice under normal atmospheric pressure (0°C)
and 103 when immersed in boiling water under the same pressure (100°C). What is the temperature of a bath
for which it indicates +70 ?
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